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Scientists say the technique of cloning animals could not only help preserve endangered
species but possibly even revive species that are extinct. In fact, Australian scientists say they
are on the way to reviving an extinct species --- the Tasmanian tiger --- using cloning
technology. They are now working with the DNA of the Tasmanian tiger to bring it back to
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In her biography, Marie Curie is quoted as having said: "FAIL, BHEICIZ RV E N HHE
Z 2 TWHANEDO— N T, Scientistsin their laboratories are not only technicians; they are
also children placed before natural phenomena which impress them like afairy tale.” To attain
great scientific beauty, scientists must have pure, honest hearts.
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3) Describe all the information in the chart in English. Use only one sentence. Do not
use"and" or " but."
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Dear Helpful Advice,

My close friend and classmate will graduate from high school next year. His parents insist

that he should study at university, but he has no interest in going right now. He wants to take

a break for a couple of years and see the world before he goes on to college. He doesn't know

what to do and is asking me for advice.

What should | tell him?

5) FEFEIZLAREW,

1. A X —F b FICSEEFRERPROZBURICEB N T, HO R EITKRER L2 L%
BHWHETZ L, 3T FET RN TETWHDDOTIE R WD,

2. A=W R UAEDT-ZA, A X=X IR EIEZ DV B RA I H
ZL7=,

3. NENCXDBREEAIE LGB DT- DI L OO BEM 3 E LD LT,

6) WDZODTTTIE, 1945 ££L 2005 L£D A ARIZBITHEMHIOA O HLFRERL T
Y, ZORRBLT, BERENME=Zo5T, EOBORREEZONHILE, &8
T 100 FERE DRFETEIRE, <R VARIIEBHICEDEE A,

~ =]
B

0~9  10~19 20~29 30~39 40~49 50~59 60~&9 70~T9 80~

EliE (8

1945 4§

—
P
i

&

0~9 10~19 20~29 30~~39 40~49 50~~50 G0~69 70~79 B0~
i (%)

2005

(FEED  EEE S



7) ROFEEDOIXEEFH, THRER (1)~ (7) ZFERLARIV,

GILES

BREEHVNEITINEL, BItA THBIBILEDZE, AIED T, DR ODIE
BWH DT AFITITEFLUCIEIIRNET, DEIMNEIZWVIURNDIEE | S 6D
VRN EFTFF RUNIARS>TEET,

EZAT, ZOEOERIBIZ I E NI IFE LIOEFHEIL TVET, 3)FEIE, JeH B AR
LFEMEZITELE, DFRIIIE VST TR, BITEE T E A8 0E T,
5) WO RO IEEZ W RIFICENESEN TT O T, B8 TERALISWITIF->TRZ T
ST VEESTUVET,

BEOOFIZ, FFERAED LNSA PRS2 EBNTHY L=, 6)FADIRE I
T & OIEHRAEZA ADPEOMED T AR L DOFEBEON NI S—T 4 ZBHEFRHA D, FAL 8 A
1 H235 20 HETHEFZIZWDHTETTOT, FOZHEHKITZS,

NERRICBEWVT DO AL TWVET,

8) FEFEIZLRXY,

A: HADBHR —DEFEITRT-DILD TN ETHD, ThHA & ST R #EAND
R E IO, BRAEZTAZENRIZL TENRBD THWZEON B 5 %5
QRSN

B: EBRICH DRI E DT Holo NEISMT, ENHIRRDELS %, ZHUTEERNIZE 2
TWAEITEWERE A, BOTETHI KRR A TZ LU T TUIWT EEA,

9) Read the following text and answer questions[A] and [B] below.

Japan and Italy may appear to be very different countries but they have two important
factors in common: a faling birthrate and an ageing society. In Italy today 18.9 % of the
population is over 65, but thisfigure is likely to go up to 34.4 % by 2050. The average age of
Italians is currently 41. 8 and in 2050 is predicted to be 50.5; 4.3 % of the population is over
80 and by 2050 that figure will probably reach 14.2 %. If these projections are right, then in
2050 Italy will have 15 million fewer people than today. Italy has the lowest fertility rate, at
1.23 children per woman, and the fastest ageing population in Europe.

In response to these problems the Italian government has decided to offer women who
have a second child a payment of 1, 000 Euros. This has already been paid to 190, 000 Italian
women, but many Italians believe that this policy does not go far enough. One town, where
only 4 babies were born in 2002, has offered women 10, 000 Euros over a 5-year period for
each additional baby. This kind of policy has been introduced in another European country,
Sweden, and was initially successful in increasing the number of new babies. However after



only a few years the birth rate fell back to the same level before the financial support was
introduced.

Letizia Mencarini, a professor at the University of Florence, questioned more than 3, 000
mothers across Italy to find out what would persuade them to have more children. She found
that the more the father was involved in looking after the child and doing household chores,
the more likely his wife was to want and have a second baby. The survey indicated that Italian
men do little around the house - fewer than 6 % of mothers responded that their husbands
"always' or "often” did household chores such as cooking or cleaning. As a result many
women cannot face the dual burden of going out to work and looking after an extra child.

Other solutions to the problem of an ageing society include raising the official retirement
age from 60 to 65, providing cheaper child care facilities so both parents can continue to work
after having children, and extending paid maternity and paternity leave for parents after the
birth of their children. One thing is certain for both Italy and Japan: solving the problems of
an ageing society will be neither ssmple nor cheap and this will be one of the greatest
challenges these countries face in the coming years.

Note
maternity and paternity leave: a period of time after having a baby when parents are allowed
to be away from work

A Short-Answer Questions
Write a one-sentence answer to the following questions. Please answer using a complete
sentence in English.
Example: Question: What do you want to study at Hokkaido University?
Answer: | want to study science at Hokkaido University.
(1) Which two problems does Italy face?
(2) Describe two features of the population in Italy in 2050.
(3) Why isthe Italian government offering women a payment of 1, 000 Euros?
(4) According to LetiziaMencarini, what do Italian women want their husbands to do?

B Essay Question

Paragraphs 2, 3 and 4 in the text report several ways to resolve the issue of an ageing society.
Which of the suggested solutions (or your own solution) do you think would work best? Write
a short essay (about 70-90 words in English) describing your solution. Give clear reasons to
support your opinion.
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